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MODEL QUESTION 11

1. Fillin the blanks with the words from the box. Make any change if necessary.

company | out between | for relationship | share of the a

Friendship is a)____ great human virtue. Friendship is b)___love and affection between two persons. It binds
more than one person in good ¢)___ and inspires each other to d)___ joys and sorrows e)___life. Man is a
social being. He cannot live alone. So, he wants f)___.Heyearns g)___giving and receiving love and affection.
Friendship grows h)___ persons of similar tastes, feelings and thoughts. It grows i) __ of mutual
understanding and give and take. Friendship generally grows between two persons j)___ the same age.

a d 8 i

b e h

c f i
2. Fill in the blanks with suitable words.
Morning walk is a good habit (a) _allclasses of people. Itis(b)__ simple exercise and good for
healthand (c)____ . Inthe morning, airis(d)_____ and free from any kind of noise and pollution. This
(e)___ environmentmakesaneffecton(f) _  walkers”healthand mind,(g)__ amanenjoys
(h) beauties and selemnity (i) nature (j) the morning.

a d g j

b e h

c f i
3. Make five sentences using parts of sentences from each column of the table below.

Visiting historical places about our ancestors.

We read history to know the beauty of it.

Traveling see considered as a heavenly virtue.

We go back to our village and is enrich our sensibility.

Love of one’s own country will a part and parcel of our knowledge.

4. Complete the following text with right form of the verbs given in the box.

be take move go recover | make utilize | rise do overcome

A proverb goes that time and tide wait for none. Since the dawn of civilization, time isa)___. Itdoesb) ___
any rest. it is never constant. Time once gone is c)___forever. Lost health may be regained by medicine and
proper caring and nursing. Lost time cannot be d)___ by any means because nobody can stop the ceaseless
onward march of time. Life €)____ nothing but the sum total of some moments, So, everybody should f)____
every moment of his life. But everyone g)___ so. Only a few people h)___ the best use of time and they can
i)___ tothe pinnacles of glory by j)___ the problems of life in this world. We should follow them.

a d g j
b e h
c f i
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5. Change the narrative style of the following text:

“What are you doing now, Jack?” | said. “I’'m watching an interesting programme on television,” Jack replied.
“Aren’t you wasting your time?” | said. “No, | don’t think so,” said he.

6. Change the sentences according to directions.

a. Day-to-day life in the city is expensive (Make negative sentence)

b. People living below the poverty line lead a miserable life. (Make complex sentence)

(o Price hike is one of the biggest problems for them (Use positive degree)

d. The government has taken necessary steps to keep the price hike under control (passive voice)
e The people who are greedy are responsible for price spiral (Make simple sentence)

f. It is not easy to control price hike (Make affirmative sentence)

g. The government has to ensure the supply of products (Use passive voice)

h. The culprits should be punished (Use active voice)

i The culprits raise the price to earn more profits (Make complex sentence)

j. We should be aware of these culprits ( Make imperative sentence)

=|>|jm ([~ |Q|0 |T|w

—

7. Complete the following sentences.

(a) We should say ‘no’ to corruption because

(b) Corrupt person are not only dishonest but also

(c) Now, it is high time

(d) We should work together if

(e) But we are so self-centered

guage Zone m.solaeman 01772828790

T4 7 P 4 5 Y I 4 8 LA 5 90 4 8 4 A A P 50 4 8 5 5 I 0 4 0 1 45 5 0 50 9 59 0 9 5 0 0 M4 P 4 00 4 50 B I N 4 0 8 4 45 50 B 0 8 4 991 49 1 49/




o> EnglishlLanguage Zone
JSC, SSC & HSC English

8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

/\

a) .... (corrupt) .... is one of the greatest challenges of the world. It occurs in (b)..... (vary)...... ways. (c) ......
(bribe).... is one of them. Corruption is a major hindrance to the (d) ...... (sustain).... development. It is (e)....
(corrode) .... on the very fabric of society. We need a corruption free society in order to (f).... (sure).... our
all-round (g).... (develop). (h) ..... (extort).... and (i).... (adulterate).... of food stuffs are other forms of
corruption. All attempts to curb corruption have proved to be (j)...... (effective) .........

a d g j
b e h

f i
9. Make tag questions of these statements.

a) None is none under the sun, Y

b) A healthy mind can reside only in a healthy body, _ ?
c)Dositdown,_?

d) Nothing comes from nothing, r

e) Everybody is dancing, ?

10. Complete the passage with suitable connectors.

Global warming is increasing day by day (a) deforestation. We cut down trees (b) never think of
planting more trees. (c) humans and other living beings are in the threat of extinction. Time is coming
(d) there will be no tree for us. (e) we have to face bitter consequences of deforestation.
a C g
d

11. Rewrite the following passage and punctuate where necessary.

overhearing their whispers the caliph said to the dervishes are you not of this house then no they replied we
have never been in this place before perhaps that man there knows the answer said the caliph pointing to
the porter
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